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Ideals for irreducible componentfbf Xpar

= 4u 4 fut1)

* 1 irreducible components of dim¢ = 0, with total 78 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings

w- (1)

1
ag = 0
1
a7 = U2
u
a3 = \uyd+u
B
a4: u3+u
uB
a1 = \WW+ud+u
wWHul+ut+1
ag =\ u'% + 2u8 + 3u + 2u* + u?
w2t + 4w + 907 + 126! 4+ 1203 + 10w + 9u® + 6u” + 3u® + u
as = uPB +5ut - 22U+ u
—ul —2¢9 — 207 +u?
a12 = \ g + 30 +4u” +3u® +ud +u
u? 4+ Tud0 4 20?1
a10 = \ —u32 — 830 ... — 1248 — 448
w9 +15u8 + .+ uZ 41
a6 = \ —ub6 — 16u% + .- — 448 + 2

uP® + 12053 + -+ 5u7 + 208
ann =\ w7+ 13u% + -+ 2ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u"% —4u™ + ... —8u —6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ w437 4+ 3ut1
Ca,C7 w1
€3 u® -4 — 711w+ 185
C4 u™ 0"+ — 2625u + 2061
C5,Ce, C10 u78+u77+_._+3u+1
C11
C8 u™ 4+ 5u"7 4 -+ 4 233u + 259
Co u™ 421077 + - 4 3489u + 187
c12 ™+ 9477 + -+ + 1209 + 109




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 Y+ 4+ Ty + 1
ca,cr Y437y T+ 3y +1
c3 y™® —19y™" 4 - — 1149321y + 34225
¢ 78 77
4 y'® = 27y"" 4+ .- — 82982745y + 4247721
C5,Ce, C10 y78+89y77+~-~+3y+1
C11
¢ 78 77
] y' o+ 17y + - 4+ 3777875y + 67081
Co y™® —11y™" + - — 42057y + 34969
19 Y™+ 13y + - + 852607y + 11881




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u = —0.176293 + 1.0389007 7.18444 — 1.670191 0
u = —0.176293 — 1.0389001 7.18444 4+ 1.670191 0
u= 0.250777 + 1.0488201 —0.743942 4 0.7171381 0
uw= 0.250777 — 1.0488201 —0.743942 — 0.7171381 0
u= 0.662622 + 0.6224141 11.08790 + 7.771121 6.08947 — 6.1592471
u=0.662622 — 0.6224141 11.08790 — 7.771121 6.08947 4 6.159241
u = —0.559696 + 0.9535411 2.23246 4 0.838041 0
u = —0.559696 — 0.9535411 2.23246 — 0.838041 0
u = —0.644680 + 0.6150607 3.22743 — 5.557911 3.92619 + 8.071981
u = —0.644680 — 0.6150607 3.22743 4+ 5.557911 3.92619 — 8.071981
u= 0.578452 + 0.9481031 10.12780 — 2.942061 0
u= 0.578452 — 0.9481031 10.12780 + 2.942061 0
u = 0.536776 + 0.9785941 0.45641 + 2.415671 0
U 0.536776 — 0.9785941 0.45641 — 2.415671 0
u = —0.494251 4 0.7187401 6.27468 — 2.029641 2.37275 4 3.901001
u = —0.494251 — 0.7187401 6.27468 4 2.029641 2.37275 — 3.901001
u = 0.679159 4 0.5431551 12.45010 — 1.872941 7.91266 + 0.016241
uw = 0.679159 — 0.5431551 12.45010 4 1.872941 7.91266 — 0.016241
u = —0.248111 + 1.1115407 —4.03405 4 1.381951 0
u = —0.248111 — 1.1115401 —4.03405 — 1.381951 0
u= 0.617031 + 0.5941017 1.58657 + 2.146261 0.09014 — 3.072681
u= 0.617031 — 0.5941017 1.58657 — 2.146261 0.09014 + 3.072681
u= 0.231696 + 1.1227901 —2.66484 — 4.982831 0
U 0.231696 — 1.1227901 —2.66484 + 4.982831 0
u = —0.220916 + 1.1309107 5.04714 4 7.329401 0
u = —0.220916 — 1.1309107 5.04714 — 7.329401 0
u = —0.561401 + 1.0068407 2.94053 — 5.158011 0
u = —0.561401 — 1.0068401 2.94053 4 5.158011 0
u = —0.646275 + 0.5441851 4.30217 + 0.432261 6.84123 — 1.123471
u = —0.646275 — 0.5441851 4.30217 — 0.432261 6.84123 + 1.123471




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

—0.769714 4 0.3445401

9.68605 4 10.024701

4.54215 — 5.701171

—0.769714 — 0.3445401

9.68605 — 10.024701

4.54215 4 5.701171

= —0.330134 + 1.1088801 —4.86646 — 1.539881 0
= —0.330134 — 1.1088801 —4.86646 4 1.539881 0
= 0.294729 + 1.1237401 0.529229 — 0.0960111 0
= 0.294729 —1.1237401 0.529229 + 0.0960111 0

—0.734635 4 0.3971141

11.73850 4- 0.411107

7.04886 — 0.509491

—0.734635 — 0.3971141

11.73850 — 0.411107

7.04886 + 0.509491

0.580481 + 1.0106101

11.07250 + 6.748591

0

0.580481 — 1.0106101

11.07250 — 6.748591

0

0.758266 + 0.3406461

1.87500 — 7.668221

2.06566 + 7.501381

0.758266 — 0.3406461

1.87500 + 7.668221

2.06566 — 7.501381

= 0.353897 + 1.1162801 —3.95417 4 5.011271 0
= 0.353897 — 1.1162801 —3.95417 — 5.011271 0
= —0.369372 + 1.1267801 3.43300 — 7.219801 0
= —0.369372 — 1.1267801 3.43300 + 7.219801 0

—0.739839 + 0.3368301

0.35594 + 4.047601

—1.60822 — 2.481461

—0.739839 — 0.3368301

0.35594 — 4.047601

—1.60822 + 2.481461

0.716830 + 0.3713621

3.50311 — 1.572371

5.70399 — 0.076351

0.716830 — 0.3713621

3.50311 4 1.572371

5.70399 + 0.076351

gie|e(e|e|g|g|g|e|g|g|g|e|g|g|g|e|g|eg|g|g|g|g|g|e|ge|ege|g|ge|:

= —0.481533 + 1.1154401 4.18249 — 0.467351 0
= —0.481533 — 1.1154401 4.18249 + 0.467351 0
= 0.501259 + 1.1088901 —2.96742 4 2.548241 0
= 0.501259 — 1.1088901 —2.96742 — 2.548241 0
= —0.520445 + 1.1119101 —3.57499 — 5.990881 0
= —0.520445 — 1.1119101 —3.57499 + 5.990881 0
= 0.562822 + 1.1027501 1.36314 + 6.468911 0
= 0.562822 — 1.1027501 1.36314 — 6.468911 0
= —0.575491 + 1.0966601 9.68171 — 5.400551 0
= —0.575491 — 1.0966601 9.68171 + 5.400551 0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.708462 + 0.2749011 4.60181 — 3.066471 0.82477 + 2.993221
= 0.708462 — 0.2749011 4.60181 + 3.066471 0.82477 — 2.993221
= 0.537436 + 1.1236601 2.16314 4 7.810981 0
= 0.537436 — 1.1236601 2.16314 — 7.810981 0
= —0.562734 + 1.1190501 —1.93087 — 8.991651 0
= —0.562734 — 1.1190501 —1.93087 + 8.991651 0
= 0.569133 + 1.1229501 —0.42249 4 12.682001 0
= 0.569133 — 1.1229501 —0.42249 — 12.682001 0
= —0.573825 + 1.1251301 7.3870 — 15.08551 0
= —0.573825 — 1.1251301 7.3870 + 15.08551 0

—0.642804 + 0.2507281

—1.16696 + 1.468091

—3.90843 — 3.903291

= —0.642804 — 0.2507281

—1.16696 — 1.468091

—3.90843 + 3.903291

0.243242 + 0.6112791

—0.183340 4 1.1546801

—2.33672 — 6.240311

0.243242 — 0.6112791

—0.183340 — 1.1546801

—2.33672 + 6.240311

—0.645299 + 0.1171411

6.90376 — 3.748241

1.81576 + 2.403211

—0.645299 — 0.1171411

6.90376 + 3.748241

1.81576 — 2.403211

0.614376 + 0.1711211

—0.44935 4 1.761621

—1.34285 — 4.293861
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0.614376 — 0.17112171

—0.44935 — 1.761621

—1.34285 + 4.293861




II. u-Polynomials

Crossings u-Polynomials at each crossing
‘1 u™ + 37"+ 4+ 3u+ 1
c2,C7 W4T+ 41
€3 u™ — " o~ T11u 4 185
€4 u™ +u™ + - — 2625u + 2061
s, C6, C10 W+ 4 3u+1
C11
Cs u™ + 5u" + -+ + 233u 4 259
Co u™ + 210" + - + 3489u + 187
c12 u™ 4+ 9u"™" 4 -+ 4 1209u + 109




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Yy Ty + 1
Cs, 07 y 37y T+ 43y +1

Cs y™® —19y77 + ... — 1149321y + 34225
Ca y™® — 27y 4+ ... — 82082745y + 4247721

C5,C6, C10 y78 +89y77 +o 4 3y+1

C11

c8 Y™ + 17y " + - 4 3777875y + 67081
Co Y™ — 11y + - — 42057y + 34969
12 Y™ + 137" + - 4 852607y + 11881




